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Morning Session - 1

According to Erikson, the Psycho Social crisis that appears in
the school stage

1.
2.
3.
4.

Initiative - Guilt
Generativity - Stagnation
Industry - Inferiority
Autonomy - Doubt
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The stage for a child Emotionally Balanced

1.
2.
3.
4.

Infancy

Late childhood
Adolescence
Early childhood
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The cognitive structure that aids an individual to understand
his / her experiences and to adjust with environment is

1.
2.
3.
4.

Organisation
Operations
Assimilation

Schemata
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“School facilities are closely related to student learning”

stated by

1. W.C. Bagley
2. Scodak

3. Pearson

4. Allport
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Saying that permanent teeth are formed because of eruption of
‘milk teeth”

1 Principle of uniformity of pattern

2 Development is cumulative

3. Development is not uniform in all the stages

4. Development proceeds from general to specific
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Incorrect statement with regard to ‘longitudinal approach’
1. It takes long period of time to collect data

2. Development of each child can be analysed

3. Very expensive

4. There is no loss of selected subjects
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Assimilating the desirable qualities of others into one’s own
personality is

1. Compensation
2. Identification
3. Rationalization
4. Projection
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The following area of assessment does not come under Bell’s
Adjustment inventory

1. Home adjustment
2. Social adjustment
3. Cognitive adjustment

4. Health adjustment
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10.

11.

The four types of Scores Fluency, Flexibility, Naturality and
Novelty included in this test

1. Army Alpha test

2. Minnesota test of creative thinking
3. Minnesota Multiphasic Personality Inventory
4. Wechsler child intelligence scale
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In Thorndike’s CAVD test ‘C’ represents
TEES CAVD %0658° ‘C’ 008

1 Culture
2 Career
3. Completion
4

Competition

This theory is also known as ‘organized whole theory’
Theory of Identical Elements
Theory of Generalisation
Theory of Ideals
Theory of Transposition
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The author of the book ‘Emile’ is

1.
2.
3.
4.

Ryburn
Galton
Rousseau
Thorndike

WY’ KOG BS00es

1.

L

25
QS
P
oSy

‘Gender stereotypes’ are the result of this learning

1
2.
3.
4.

Learning through observation
Learning through conditioning
Learning through Trail and Error

Learning through memorization
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15.

‘Learning of motorcycle riding’ is an example for

1.
2.
3.
4.

Generalization learning
Systematic learning
Attitude learning

Realistic learning
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How can parental aspirations negatively affect a child’s
learning

1.

By limiting the child study hours

2. By forcing the child to study beyond their capacities
3. By providing insufficient guidance
4. By showing lack of interest in child’s learning
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This person defined “motivation is the bases for all types of
behaviours”

1. Wood worth

2. Crow & Crow

3. Bernard

4. Hilgard
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The factors influence the formation of concrete and abstract
concepts in children are

1. Age, experience

2. Sleep patterns, food

3 Height, weight

4. Random events
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18.

19.

What does the Gestalt principle of closure refer to

1. The tendency into group elements that are close
together in space

2. The tendency to group elements that are similar

3. The tendency to see complete figures even when part of

the information is missing
4. The tendency to perceive continuous patterns
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In Kolb’s experiential learning cycle what typically follows
the stage of ‘abstract conceptualization’?

1. Reflective observation
2. Active experimentation
3. Concrete experience

4. Repetitive practice
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“Aspects related to the psychomotor domain” are
1. Emotions and values

2. Physical skills and coordination

3. Reasoning and problem solving

4. Knowledge and comprehension
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According to the ‘SE’ learning model the first step to ask
questions on the topic chosen to teach students, defining and
understanding problem is

1. Explore
2. Engage
3. Evaluate
4. Empathy
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Use of a scale called the Illinois Test Psycholinguistics

1. To determine the level of intelligence
2. To estimate the personality

3. To determine the learning Disability
4. To counselling the students
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According to NCF-2005 the main aim of teaching
1. To provide information

2. To complete the syllabus

3. To enhance the Discipline

4. To construct the knowledge
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24.

25.

1.Q of Ramesh is calculated as 95. Therefore he comes under
this category

1.

2
3.
4

Below average
Average
Gifted

Superior
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In this conflicts one has to make a choice two and more
attractive and unattractive goals

1.
2.
3.
4.

Approach - Approach
Avoidance - Avoidance
Dual Approach - Avoidance
Approach - Avoidance
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Government teachers should not work in any private
institution. This clause of RTE — 20009 states this

1. Section - 25

2. Section - 26

3. Section - 27

4. Section - 28
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Photo booth is

1. A software for making pictures and videos

2 Paint software

3. Antivirus software
4. P.D.F software
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29.

Snellen chart is used to identify

1. Visual impairment

2. Hearing impairment
3. Auditory impairment
4. Speech impairment
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‘Skype’ is a

l. Freeware

2. Cyber Patrol
3. Crackers
4.

Spamming Programme
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30.

Formative Assessment is currently being implemented in A.P
in the name of the following

1.
2.
3.
4.

Digestive Assessment
Self-Assessment
Predictive Assessment

Hypothetical Assessment
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2.
3.
4

This shirt is too enough for me.
This shirt is so enough for me.
This shirt is too big for me.
This shirt is big enough for me.

In the present tense, all singular subjects use
plural subjects use

1.

2.
3.
4

Choose the term that describes a person who believes in

has, have
have, has
had, have
have, had

ruthless self-aggrandizement

1.
2.
3.
4
Choose the modal verb that indicates necessity:
1.

2.
3.
4

Altruist
Humanist
Philanthropist
Egoist

could
may
must
shall

__and all



65.

66.

67.

68.

Choose the correctly capitalized day of the week:

1.

2.
3.
4

tuesday
Tuesday
TUESDAY

TuesDay

Hobbies and interests of a person are discussed in the
following section while writing a biographical sketch

1.

2.
3.
4

Introduction

Career and achievements
Personal life

Early life

Choose the sentence in the past perfect continuous tense:

1.

2.
3.
4

She sang a song.
They were playing football.
I will be waiting for you.

He had been studying before the exam started.

Choose the helping verb used in the future perfect tense.

1.

2.
3.
4

will have
1S
was

has been



69.

70.

71.

72.

One of the following is not a declarative sentence:
1. The sun rises in the east.

2. She is reading a book.

3. What a beautiful dress!
4

The train arrives at noon.

He worked hard to achieve his goals.

Choose the correct transformation for the simple sentence into
a compound sentence:

1. He worked hard, since he achieved his goals

2. He worked hard because he wanted to achieve his goals

3. He worked hard to achieve his goals, but he was not
successful.

4. He worked hard, so he achieved his goals

Select the example that represents a complex sentence.
1. The cat sat on the mat.

2 I enjoy reading books.

3. She sang while he played the guitar.

4

He wanted to leave, but she wanted to stay.

The weather was perfect for a picnic. , we decided to
spend the day outdoors.

Choose the linker that fits the blank.
1. Despite

2 In contrast
3. Similarly
4

Hence
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74.

75.

76.

Choose the correct sequence of the words in which they occur

in a dictionary.

1.

ii.

iii.

1v.

1
2.
3.
4

remember
revenge
regret
refer

111, i1, 1v, 1
1, i1, 11, 1V
1v, 111, 1, 11

v, i, 1, iii

Choose the correct spelling of the word.

1.

2.
3.
4

Select the example where the indefinite article is used before a

Tranquiliser
tranqillizer
tranquillzre

Tranquillizer

name to indicate a profession:

1.

2
3.
4

A dog is faithful.

He is a teacher.

Birds of a feather flock together.
A Mr. Smith is on line.

the meeting, it has been postponed.

Choose the correct preposition that fits the blank.

1.

2.
3.
4

As well as

By means of

In accordance with
As for



77.

78.

79.

80.

“Good for you, Mr. Detective,” I said, patting him on the back.

Choose the synonym that means “patting”.

1.

2.
3.
4

striking
hitting
punching

tapping

On the contrary, his mother thought Albert was a freak. To
her, his head seemed much too large.

Choose the antonym of the word ‘large’.

1.

2.
3.
4

immense
enormous
spacious

tiny

Identify the correct indirect speech form of the direct speech:
Rama said, “I am very busy now.”

1. Rama said that he is very busy now.

2 Ram said that he was very busy now.

3. Rama said that he is very busy then

4 Rama said that he was very busy then.

She always her grandmother whenever she visits her.

Choose the correct phrasal verb to fit the blank.

1.

2.
3.
4

looks up to
looks after
turns into

puts off



1.

82.

83.

Sue and Ann don’t like
Choose the option that fits the blank.
1. himself

2 themselves
3. each other
4

to one another

Identify the sentence that uses an interjection to express
surprise.

1. Ouch! That cut hurt.

2 Yay! We won the game.
3. Um, I am not sure
4

Wow! That’s amazing

Read the following passage carefully.

India’s festivals are a vibrant reflection of its cultural diversity.
Diwali, the festival of lights, illuminates homes with oil lamps
and fireworks. Holi, the festival of colours, brings people
together in a joyous celebration of spring. Each festival,
whether it’s Eid, Christmas, or Pongal, showcases the unity
and rich traditions of India’s varied communities.

Diwali is known as the festival of

1. colours
2 lights
3. harvest
4 music



&4.

85.

86.

Read the following passage carefully.

India’s festivals are a vibrant reflection of its cultural diversity.
Diwali, the festival of lights, illuminates homes with oil lamps
and fireworks. Holi, the festival of colours, brings people
together in a joyous celebration of spring. Each festival,
whether it’s Eid, Christmas, or Pongal, showcases the unity
and rich traditions of India’s varied communities.

Identify the statement that best describes the impact of Indian
festivals.

1.

2.
3.
4

Indian festivals are only celebrated in urban areas.
Festivals in India are predominantly focused on food.
Indian festivals are uniform across all regions.

Indian festivals are a reflection of the country’s cultural
diversity and traditions.

Choose the best option that fits the blank.

Skimming or scanning for specific informationisa _ of
reading.

1. sub-skill

2. true

3. successful

4 mechanical

Choose the best option that fits the blank.

Reading aloud helps to improve , stress and
comprehension.

1. Spelling

2. Grammar

3. Pronunciation

4 Vocabulary



87.

88.

&9.

90.

Choose the best option that fits the blank.

Techniques are used within a to achieve specific
objectives and outcomes.

1. method

2 theory

3. model

4 design

Choose the best option that fits the blank.

CLT focuses on developing students’ ability to communicate

effectively, including competencies.
1. mathematical

2 scientific

3. discourse

4 artistic

Choose the best option that best describes bilingualism:
l. The ability to speak two languages.

2 The ability to speak one language.

3. The ability to speak multiple languages.

4 The ability to speak ancient languages.

Identify an aim of teaching English at the senior level (Class
IX to XII):

1 Expanding vocabulary to 1500 words

2 Reading without comprehension

3. Speaking English fluently and accurately
4

Avoiding the use of reference materials



91.

92.

93.

Dividend is 5234, Quotient is 15 and Remainder is 14 then
divisor is

degresgo 5234, D0 15 $HB5w 320 14 @003 Jerxgo

1 385

2. 354

3. 350

4 348

The value of (10x—25)+ (2x-5) is
(10x=25)+ (2x = 5) DY), J0S

1 -4
2 4
3. -5
4 5

Additive inverse of Zero is

1. does not exist
2. 0

3. 1

4. 0and 1

RO Bk, VoseS IS0
L SgSRe0 o
@



94.

95.

96.

Number of times a wheel of radius 14cm must be rotated to go

352mis (take 7= %) is

FEPEO 14 0.0, KO 2.8 T S(S°R) 352
5550 (SATEBODBEANLE BRYTORS &y VoPg

(7z=2—721T° SAE5D)

1. 400
2. 4
3. 40
4. 44

An electric scooter bought at ¥42,000. Its value depreciated at
the rate of 8% per annum. Then the value of Scooter after one
year is (in Rs.)

28 JoE§ B 6 42,0005 SN, B Jews oSS o3
8% TIPS SHKS Ted 0. VOSSIT0 ShHares 1) &6
BooF), IS (8. o)

1. 34680

2. 36480

3. 36840

4. 38640

The mode of 2, - 3,-1,- 4,4,3,2,1,01s

2,-3,-1,-4,4,3,2, 1, 0 5820830 R0, 2PV EESD
4

B P b=

3
2
1



97.

98.

The coefficient of x* in the expression —5x’y is

—5x7y ¥3008° X7 @B KoeEsn

1
2
3.
4

If two 30°, 60°, 90° set squares are placed along their
hypotenuses in such a way that their hypotenuses completely
coincide each other then the polygon formed is

1.
2.
3.
4.

Square
Kite
Pentagon

Rectangle

30°, 60°, 90° Serre Soesen KXo BOEK [aee DETOD ¢
ST oG, ST N850 dsom THIER ea;Soa;)é 53650)3
2080 e33O0

1.

L

WBOB(00
dIe0
RleINAVEY
QY 58080



99.

100.

The mean of 1?,2%,3%,4% is

12,2234 o Bo0F),. DK

1.

In the flowing Identities which is TRUE
808 B LTS Vg0’ ©00SH

1.

2
3.
4

(a—b)Y =a*=b
(a+b)Y =a’+b’
(a—b)’ =a’+2ab-b’

(a+b) =a’+2ab+b’



101. Two adjacent edges of a note book are the example of

Parallel lines

o ®

Perpendicular lines

Intersecting lines

Only a

Only a and b

Only b and ¢

. Only ¢

She YIS ) woten \§o8 FBS° BIS &TIrve

AW oN o= o0

a. DS°0e88 Tpew
b. ©02) TPV

C. POLES Bpew

1. aseEd
2. a8 b Sl
3. bH8csn ¢ Sl
4. oS

102. Express 256 as a power of 2
2563 2 Boo¥), IrSor SEESTY

1
2.
3. 27
4



103.

104.

105.

Which of the following has a rotational symmetry of order ‘2’
808 TIS° (e RS DOSTE0 2 Kod DO

1.

2.
3.
4

Square
Triangle
Circle

Rectangle

An article was sold for ¥1260 with a profit of 5%. Then the
cost price is

2.8 S99 5% orgsos’® 1260 O 10ESB. 9003 FYR

1
2.
3.
4

%1140
%1200
X1300
%1320

After reducing a number by 30% the resultant number is 63.
Then the original number is

e ?602135263 30% SRowS SLHI°S DOSBS 63 90

€90 2602135
1 75
2. 80
3. 85
4 90



106. Vidhijna wants to paint her bedroom wall with dimensions
10ft x 10ft. To do so the kind of measurement and the value
of measurement she has to take into consideration is

107.

1.
2.
3.
4.

Perimeter, 20ft
Area, 100sq.ft
Perimeter, 401t
Area, 20sq.ft

Qg 10 ey X 10 emhies Soseor Ko 83 HEEKO
RBEE 50K DO0SOD0D. ©0HESE e B8KeSS DL
A T0NS s SEI1 08850 s Jens

1.

L

ey STod, 20 edres
23050, 100 SEEY edren
B¢y Sod, 40 edore
STOF0, 20 BETY v

The least number when divided by 12, 16, 24 and 36 leaves
a remainder 5 in each case is

12, 16, 24 $58053 3603 2PAODSYE (PEIS 0 5 azﬁg
§SO?8 260335

1
2.
3.
4

139
144
145
149



108.

109.

110.

Angles in a quadrilateral are inaratio 1 : 2 : 3 : 4. The
difference between the largest and the smallest angle
measurements, in the quadrilateral is

2.8 SE)e0s” Sero NG 1:22:3:4 vond & SE=0S
O&DY, 0V Sevo S5 FATAINED

1 108°
2. 144°
3. 36°
4 72°

Usual form of 100x7+10%x3+2 is
100X 7+10x3+2 Soo¥), 3°;55°<6§ oS Ye)

1 10°x74+10x3+2
2. 700 + 30 +2

3. 732

4 17132

The total surface area of a cuboid of dimensions
8cmX 4demX 2em 18

1.  64cm’
2 64cm’
3. 112cm’
4 112cm?

820.50 X 420.0 x 220.2 Fogenr Ko 28 ég)zwéo
E08). DoYPEB JT0

1. 64 2.20.2

2. 64 35.20.9
3. 112 0.20.2
4. 112 $0.2



111.

112.

113.

A die is thrown once, then the probability of getting a perfect
cube number is

2.8 JDES 288 6"(@)05)‘6 :a@épg 208 éoa)ag o°SEedd
Ko éoe.régé

. L
6
. L
3
3. L
2
4.0

x and y are in inverse proportion and x = 15, y = 75 then the
value of x, when y =9

X 50005 y e IS'ZE0IS0S” sow. 2B x =15,
y=T50005 y=9 eaooo:ébo)bcéo x B0%). S

1. 750
2. 375
3. 225
4. 125

12A + 6 AB = A09 then the value of A is
12A + 6AB = A09 0035 A o_t‘>ao§zr RISOINS

AW N =
o WDn W =



114. {(5+5%x5-5+5)x5}+5=

l. 5
2. 9
3. 19
4. 29

115.  One of the following is not related to Morrison’s unit approach

l. Exploration
2. Association
3. Assimilation
4. Presentation

808 AS° IS AT SHHrard K020H0IIE
L 56
2. DoJGo
N
3. J0BEBE30
4 EEyS



116.

117.

In problem solving method, “a teacher provides another easy

problem which is similar to the given difficult word problem”

This belongs to

1. Pictorial Method

2. Method of Analogy

3. Method of Dependence
4. Method of Restatement

DG DO S DEBS” 28 SO SES 0o
DD FOT oTRS D He3S VHVGD 3KE0” &SI

1.

L

D D5Ter D&
[on]

éwciq)'s“@ DEH
[on]

e3°0°® ZJCQS@

DI(ESSS 9GS

One of the following is not an objective of CCE (Continuous

Comprehensive Evaluation)

1.
2.
3.

4,

Creating motivation among pupils
Making pupils to express their own ideas

Making evaluation a part of the teaching learning
process

encouraging children to memorise the facts and figures
Byhearting

808 FAS° “VoSs v SorergosS( CCE)” of50 S8

1.

2
3.
4

g (28 $OROSEO

g BS FOoS LPSTOD SFEHTTeren BAHEO
DegoSIR) ST UGS (HFAS® arron Bahio
TRD DITT°T°), WOSOD S0FRO (0
HOB0HESEAS Dyess (FSyroso



118. “The best learning of soul, and the nice one of all the
professions of the world is Mathematics™ is defined by

1. Maths dictionary
2. Pascal
3. Bell

4. Bertrand Russel
‘o) Bl GEITEIDHS WIFHT0, (D0 S)HeYoBS o
Ke3S0 55,98” & AKIODS T

1L K3 ootnd
FE

35
allogelep]

WD

119. The main goals of Mathematics education, according to

NCF - 2005
a. The development of children’s ability of
mathematisation

b. The Mathematisation of the child’s thought process

C. Speed and accuracy in their daily life situations

d. Mathematisation in concept ladder process

NCF — 2005, (95750 Ke3es desg o), 509 eé%’go

a. 28 K3BESe FHTHON WP DEHE0

b. oo e8SS PEos K3dsBosEo

. AuddS VYT Ko 508050 PD)FEAY) ©0BOSEO
d. rEse IS HE8S° K3BESe

1. a, b

2 a,b,c
3. a,b,c,d
4 d



120. By adopting this method, we are able to ‘understand how to
solve the problem’

1. Analytic
2 Project
3. Deductive
4

Laboratory
53 ZJCOS@K) 9008030 o, 30350 ‘e b;So“‘oag:éa T O
AT ©go D& K0’

1. DFAE
™
2. (D5©)
3. QRS
4. DBorrre



121.

122.

Sound can travel through

1. Solids only

2. Fluids only

3. Solids and fluids

4. Solids, fluids and vaccum
S0 B ooe (pesredons Ko

L 3500 3 drgres
2. 3300 PIven
3. DORIETTED FoBA (DIPETVLD

4. DD DTT, (DTTVL0 HOA PS50

The normal temperature of human body is
STSS B8 Jorses &L

1 98.4°C, 37°F
2. 35°C,94°F
3. 94°C, 35°F
4 37°C, 98.4°F



123.

124.

Based on calorific value, the best fuel from the following

1.

2.
3.
4.

Coal

LPG
CNG
Hydrogen

35°02E Jens esgrson (808 oLTOS” &SI

1.

2
3.
4

5
@53)%95 0ES FA0I)

éo?at% DB O30T

TE S

Nonstick coating L :: fire proof : Melamine

1.

2.
3.
4.

Bekalite

PVC
Teflon
Acrylic

Sorgren 09080 E*KH0G E0ROMEH Fowres ([
of) AE°SE0 1 1O

1.

W

25865
2.2..
BT
(305



125.

126.

The planet with no moons

1. Venus
2. Earth

3. Jupiter
4. Saturn

E/TPe B (Kr0

1. DS
2. AN

3. aao):mo)@
4. EN)

While doing first aid to burns the following method is not
suggestible

1. Never pinch the blusters

2. Tie a bandage and apply ice on the burn

3. Keep the burnt part under cold running water

4. Apply ointment

OSSO (HESDIS) IASHPES BD0BED
QSO

1. 52O Ao R 23”2)25053 W B

Qe

5203 POH0 D Eew §§ 0D &oed

o (o5}

(S0 SO e3 (&0 wasTR) &omd.

ol

BHS0 HrasTd



127.

128.

The animal that does not have cecum

1.
2.
3.
4,

Cat
Rabbit
Deer

Horse

90SIF0 B 8

1.

e N

e
$00e0
R08
S](efe

Identify the plants with bisexual flowers

4.

Mustard b) Petunia
Corn d) Cucumber
aand b

cand d
aandd
bandc

BOK YA Ko InE o Kr80w0sk.

e35°00 b) 'z’oéo::g%oﬁr
I F'R) d &%
a8 b

c 8 d

a3ndain d

b Sodaw ¢



129. Identify the food materials that have lodine

a) fish b) eggs

c) ginger d) mirchi

1. aandb

2. bandc

3. aandc

4. band d

OBrES SOAS &3 ITTO™ KHBOH0s.
a) =9 b) &

c) QO d) ATD

1. a8 b
2 b S8 ¢
3. a 308 ¢
4 b So8asw d

130. 2,4-Disa

Pesticide

Insecticide

1

2

3. Fungicide
4 Weedicide

2

1. & $o%0ed
2. &5 voto8
3. 890 3
4

Ee0y) J°3



131. The bacterium that causes anthrax was discovered by
1. Robert Koch
2. Robert Hook
3. Robert Brown

4. Edward Jenner

wo|@) P08 SRy e oA SR8
1. O'°20§ S

2. @&é o8

3.  oof @

NN

132. Identify the set of outdoor games
1. Chess, carroms, football, kabaddi
2. Football, cricket, kabaddi, khokho
3. Football, chess, kabaddi, cricket
4. Kabaddi, carroms, chess, cricket
©P008° B 0o DI KHY0S0E.

L 35 ) 9w, sé

95, 838, 5008, $°-5°
9SS, 38, s0g, §38
o6, SO) B, §36

W N



133.

134.

Find out the odd one regarding the Man-Made components of
the Environment

1. Bridge

2. Industries
3. Community
4. Monuments

Zacr’agécisaoé% IS5 VY ©0FRKH H02050D P
&J) A G0k

1. 3083

2. 8w

3. Qo230

4, o A8 Qo°eTmen

Kalgoorlie and Coolgardie areas of Western Australia have the
largest deposits of this mineral

1. Iron

2. Bauxite
3. Copper
4. Gold

$8) QI (ForPs Sord, wrerfed’ vl Ingod”
20&)03 &) PI2O

1. EINOINIL
2. oS
3. o°A

4. 20150



135.

136.

Identify the mismatched pair regarding the Latitudes

o

1. 23% North Latitude — Tropic of Cancer

o

2. 66% South Latitude — Arctic Circle

o

3. 23% South Latitude — Tropic of Capricorn

4. 0° Latitude — Equator

©FOTO V00RO VIS BB KHYowok.
O

1 231 &85 ogodo - 55,689
2 -«

o

2. 66l 586y ©95°0%0 - eﬁazyég S350
2 (9%} (95}

o

1
3. 235 538 @00 - S0pSOP

4. 0° eogr00 - 2;55";53&55'533

Identify the district that does not share a boundary with
Krishna District

1 Palnadu
2 Eluru

3. Guntur
4 Bapatla

EYLRRSE” DOTERD D0tHE Bepss KBowok.
1 Rl

2 D>

3 HO0€33°80

4 "

2008
™



137.

138.

The Kakatiya king who started independent rule from
Hanumakonda was

1. Ganapathi deva

2. Rudradeva

3 Prataparudra

4. Prola Raju - II

TDHF0E 5008 KBS oS (FToNOVS SESoE

L Keand B9

2. HEE9H
3. (fapleb{{ablas)
4. Toks (FPooeer

The Origins of Indian music is traced in this veda
1. Yajur Veda

2. Rig Veda

3. Atharvana Veda

4. Sama Veda

2r5Ba% HoAso By Jreresy SORS o

1. CSo2sT 50

2. =200Rgso

3. @CSCESSB 3¢50
4. IS0



139. The founder of the ‘Khudai Khidmatgars’, a powerful non-
violent movement, was

1. Shoukat Ali

2. Khan Abdul Ghaffar Khan

3. Maulana Azad

4. Muhammad Ali

oo PSS MEen’ @ GOSN &GS
(P°B0DONII

1. 25S esd

2. TS eaaagé_ K38 o

3. SPere eseed

4, ;53;’?&5 )

140. The size of the population required to form a Municipal
Corporation is

L. 20,000 to 40,000

2. Less than 3,00,000

3. More than 3,00,000

4. 40,000 to 3,00,000

SRS SENTRS ATYENH THODS BIL® HOITE0

1. 20,000 S>0é 40,000
3,00,000 5083 ¢5%) %
3,00,000 5083 %3

L

40,000 o0& 3,00,000



141.

Identify the correct statements in connection with High Courts
of India.

a.

High Courts were first established in Calcutta, Madras
and Bombay in 1866

The High Court of Delhi came up in 1966

Punjab and Haryana share a common High court at
Chandigarh

Andhra Pradesh and Telangana have separate High
Courts from 1* January 2019

PTESTFOS” E RO H020HON BTS WoTw KHoS0d.

a.

b=

18668° S0y o5ty SO, HTS, Fowraned’
TERen Joyen BF.

&S’ 19668° 8% Domyen B,

B0, oy oD S0808S" &i)E FER &ob.
OGBS, BooreTo® #3550 1, 2019 Sood (HSgY
TERen Joyen Baagromn.

a,b,c

b, c,d

a,c,d

a,b,c,d



142. Identify the odd one of the physical markets based on nature
1. Neighbourhood Market
2. Weekly Market
3. Regional Market
4. Shopping Malls
NEHO BEEOT &) F'EE J70) &5 $02080%) AJore
&J) A G0k

1. PEK So°0), 6

2. POC0E35) DO
3.  |@rodakh 530
4. oA moe%

143. The 15" General Elections to the Lok shaba was held in
S°EDE 155 Jeser YT BBAS OSSO

1. 2004
2. 2009
3. 2008
4. 2005



144.

Find out the correct statements regarding the crops

In India wheat is grown in winter
Hill slopes are more suitable for growth of coffee

Hot climate and low rainfall throughout the year are
required for the growth of the tender Tea leaves

Rice crop needs high temperature, high humidity and
rainfall

DOLOE HDo0HOW BEMBOS oTeS K800k,

a.

b.

a

P b=

aPEBRIOS AHS D0 BersreoS’ HodFes.
579 0K FoETen (oS0 TUr HETO0

BOITE HoerS® Bes esHe0 DEKOSOL VNl &I
3725‘323 IS0, @955% ssgireﬁo 9530850

58 D00% WBY LS, ©BE B, ST S0 ©IHT0
a,b,c

c,d

a,b,d

b, c,d



145.

146.

“Knowing that vitamin-A deficiency causes night blindness,
carrot and papaya fruits contain vitamin-A, the student took
carrot and papaya fruits as food. The scientific value involved

in this
1.
2.

3.
4.

Utilitarian value

Scientific Attitude value
Vocational value

Intellectual value

“A QDS S0 Sg TS T50 SeoHE0sd, SBE,
)00 H0ES” A QWS S0EN0E BOHY) RI~gNe)
STBE, )00 BOESO eSO BRDHITND” §otH S
30 &) LIT(S, DS

1.

2
3.
4

EIBEAS® Jens
T(Q0% Pd e
NG s

T8 Jeos

“The student will examine various concepts, principles and
rules”. This specification belongs to this Educational

objective.

1. Analysis

2. Application

3. Knowledge

4. Understanding

A58 IS BPIID, J(Een, AAHITOM DBEPTE” @
DSt B Ay OF5AS TohEHod.

1.

Lol

DFAE?

™
ea:éosdﬁoo
2200

=y

eISTTOTO



147.

148.

The factor that teacher should not follow in the preparation of
multiple choice questions.

1. No clue should be given in the question part

2. options should be descriptive

All distractors should be approximately the same,
should be of same length

4. Question part, all option should be in same page

2ITOHV)E (HHO SAFES” &P TrIEs0cd SSHOOBETED
©0%0

L R§erKod” derod 53 0.
mi’)}:)st’@o i);sciwé&om &ozed.
z>§gwe§) 2850, o) .8 JEIS® &omd.

Lol

(0F) arKo, @) p)sen 28 DAS” coder Srad.

Students understanding the greatness of ancestors and their
heritage values and passing them on to future generations is

1. Moral Value

2. Disciplinary Value

3. Social Value

4. Cultural Value

dergsen ‘Jg)'°803§3€> FTD)ETR) HBA T8 TBIS] D0 IO
93T BWETY T3 27°Ae5TPe 0L 9ODOSEO0 IO

1. JBE S

ES0BEET JeS

TOME S

Ll

iﬁofozro)@§ DS



149.

150.

“There are 12 types of children in the classroom, in addition to
the normal students, who need to be integrated and manage the
classroom” opined by

1.
2.
3.
4.

Tender
Dunn
Tom Limpson

Walter Thomas

“SEKA KOS® S GRS I, 12 5570 DYoo
HoETE DB B 198 DD, SEKB KO ATG0BIORS
IVT0 GO D(FPADNES F°D.

1.

Ll

Boxd

35)

0 DORYS
85 TR

Identify the one among the following that is not a student
centric method

1.
2.
3.
4.

Discussion method
Lecture method
Project method

Problem solving method

808 TAS° Az To@E)S F'ET DS 1 A KHYoS0é.
] (=)

1.
2.
3.

DG HBAYT S



